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cos x = a ;     где   a� EMBED Equation.3 ���[–1; 1]





     x = � EMBED Equation.3  ���arcos a + 2πk, k� EMBED Equation.3  ���Z





             arcos(–a) = π – arcos a








                Частные случаи:


  cos x = 0 ;     � EMBED Equation.3  ���  


  cos x = 1 ;     � EMBED Equation.3  ���  





 cos x = –1;    � EMBED Equation.3  ���








cos(arcos a) = a ;     a� EMBED Equation.3 ���[–1; 1]





arcos(cos� EMBED Equation.3  ���) = � EMBED Equation.3 ���;   � EMBED Equation.3  ���








sin x = a;        где a� EMBED Equation.3 ���[–1; 1]





     x = (–1)karcsin a + πk, k� EMBED Equation.3 ���Z





              arcsin(–a) = –arcsin a








                Частные случаи:


  sin x = 0 ;    � EMBED Equation.3 ���


  sin x = 1 ;    � EMBED Equation.3 ���  


 sin x = –1;    � EMBED Equation.3 ���











sin(arcsin a) = a;      a� EMBED Equation.3 ���[–1; 1]





arcsin(sin� EMBED Equation.3 ���) = � EMBED Equation.3 ���;    � EMBED Equation.3 ���


 








tg x = a





            x = arctg a + πk;     k� EMBED Equation.3 ���Z





               arctg(–a) = –arctg a











tg(arctg a) = a;      a � EMBED Equation.3 ���Z





arctg(tg� EMBED Equation.3 ���) = � EMBED Equation.3 ���;     � EMBED Equation.3  ���








   Метод дополнительного угла.





            a sinx + b cosx = c


 


      эквивалентно уравнению


          � EMBED Equation.3  ���


            � EMBED Equation.3  ���
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